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instructions
Hand
CO 44 sts. Divide sts across two circulars or 4 dpns, join 
without twisting and pm to indicate beg of rnd.

Rnds 1-20: *K3, p1; rep from * to end of rnd.

Thumb Gusset
Rnd 1: CO 16 thumb sts onto tip of right ndl (after beg 

of rnd marker) using Backwards Loop CO (see add’l 
techniques), pm, *k3, p1; rep from * to end of rnd. 60 
sts. Divide 16 thumb sts evenly between first and last 
ndls.

Rnd 2: [K3, p1] 4x || *k3, p1; rep from * to end of rnd.
Rnd 3: K2tog, k1, p1, [k3, p1] 2x, k2, p2tog || *k3, p1; rep 

from * to end of rnd. 58 sts.
Rnds 4-5: K2, p1, [k3, p1] 2x, k2, p1 || *k3, p1; rep from * 

to end of rnd.
Rnd 6: K2tog, p1, [k3, p1] 2x, k1, p2tog || *k3, p1; rep 

from * to end of rnd. 56 sts.
Rnds 7-8: K1, p1, [k3, p1] 2x, k1, p1 || *k3, p1; rep from * 

to end of rnd.
Rnd 9: K2tog, [k3, p1] 2x, p2tog || *k3, p1; rep from * to 

end of rnd. 54 sts.
Rnds 10-11: K4, p1, k3, p2 || *k3, p1; rep from * to end of 

rnd.
Rnd 12: K2tog, k2, p1, k3, p2tog || *k3, p1; rep from * to 

end of rnd. 52 sts.
Rnds 13-14: [K3, p1] 2x || *k3, p1; rep from * to end of 

rnd.
Rnd 15: K2tog, k1, p1, k2, p2tog || *k3, p1; rep from * to 

end of rnd. 50 sts.
Rnds 16-17: [K2, p1] 2x || *k3, p1; rep from * to end of 

rnd.
Rnd 18: K2tog, p1, k1, p2tog || *k3, p1; rep from * to end 

of rnd. 48 sts.
Rnds 19-20: [K1, p1] 2x || *k3, p1; rep from * to end of 

rnd.
Rnd 21: K2tog, p2tog, remove marker, *k3, p1; rep from * 

to end of rnd. 46 sts.
Rnds 22-23: K1, p1, *k3, p1; rep from * to end of rnd.
Rnd 24: K2tog, *k3, p1; rep from * to last 4 sts, k3, trans-

fer first st of rnd to end of rnd and p2tog, moving beg 
of rnd marker after p2tog. 44 sts.

abbreviations
approx = approximately
beg = begin(ning) 
BO = bind off
CO = cast on
cont = continue(ing)
dpn(s) = double-pointed needle(s)
estab = establish(ed)
k = knit
k2tog = knit 2 sts together
m1 = make a st by picking up 

strand between two sts and 
knitting it through the back loop

ndl(s) = needle(s)
p = purl
p2tog = purl 2 sts together
pm = place marker
rep(s) = repeat(s)
rnd(s) = round(s)
RS = right side
st(s) = stitch(es)
st st = stockinette stitch
WS = wrong side
x = times
|| = slip marker


